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1. Bonding in which of the following diatomic molecule (s) become (s) stronger, on the basis of MO

Theory, by removal of an electron ?

(A) NO (B) N
2

(C) O
2

(D) C
2

(E) B
2

Choose the most appropriate answer from the options given below :

(1) (A),(B), (C) only (2) (B), (C), (E) only

(3) (A), (C) only (4) (D) only

MO fl)kUr ds vk/kkj ij fuEufyf[kr f}ijekf.od v.kqvksa esa ls fdl@fdu esa ,d bysDVªkWu gVkus ij vkcU/ku izcy

gks tkrk gS \

(A) NO (B) N
2

(C) O
2

(D) C
2

(E) B
2

uhps fn, fodYiksa esa ls lokZf/kd mfpr mÙkj pqfu, %

(1) (A),(B) rFkk (C) dsoy (2) (B), (C) rFkk (E) dsoy

(3) (A) rFkk (C) dsoy (4) (D) dsoy

Ans. Official Answer NTA (3)

Question ID:101431

Sol. If an electron is removed from the anti-bonding orbital, then it will tend to increase the bond order.

The HOMO in NO and O
2
 is antibonding molecular orbital.

Hence, in NO and O
2
 bond order will increase on loss of electron.

2. Incorrect statement for Tyndall effect is :

(1) The refractive indices of the dispersed phase and the dispersion medium differ greatly in magnitude.

(2) The diameter of the dispersed particles is much smaller than the wavelength of the light used.

(3) During projection of movies in the cinemas hall, Tyndall effect is noticed.

(4) It is used to distinguish a true solution from a colloidal solution.

fVUMy izHkko ds fy, vlR; dFku gS %

(1) ijf{kIr izkoLFkk rFkk ifj{ksi.k ek/;e ds viorZukadksa ds ifjek.k esa cgqr varj gksuk pkfg,A

(2) ifjf{kIr d.kksa dk O;kl iz;qDr izdk”k ds rjaxnS/;Z dh vis{kk vfr y?kq gksuk pkfg,A

(3) flusek gky esa fiDpj ds izkstsD”ku ds le; fVUMy izHkko dks ns[kk tk ldrk gSA

(4) blds mi;ksx ls ,d lekaxh foy;u dh dksykbMh foy;u ls fHkUurk igpku ldrs gSaA

Ans. Official Answer NTA (2)

Question ID:101432

Sol. For Tyndall effect, the diameter of the dispersed particles is not much smaller than the wavelength of
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the light used.

3. The pair, in which ions are isoelectronic with Al3+ is :

(1) Br– and Be2+ (2) Cl– and Li+ (3) S2– and K+ (4) O2– and Mg2+

;qXe ftleas vk;u Al3+ ds lebysDVªkWuh gSa] og gS %

(1) Br– rFkk Be2+ (2) Cl– rFkk Li+ (3) S2– rFkk K+ (4) O2– rFkk Mg2+

Ans. Official Answer NTA (4)

Question ID:101433

Sol.  O2–, Mg2+ and Al3+ are isoelectronic. All have 10 electrons.

4. Leaching of gold with dilute aqueous solution of NaCN in presence of oxygen gives complex [A],

which on reaction with zinc forms the elemental gold and another complex [B]. [A] and [B], respectively

are :

(1) [Au(CN)
4
]– and [Zn(CN)

2
(OH)

2
]2– (2) [Au(CN)

2
]– and [Zn(OH)

2
]2–

(3) [Au(CN)
2
]– and [Zn(CN)

4
]2– (4) [Au(CN)

4
]2– and [Zn(CN)

3
]4–

xksYM dk vkWDlhtu dh mifLFkfr esa NaCN ds ruq tyh; foy;u ls fu{kkyu ,d ladqy [A] nsrk gS] tks ftUd ls

vfHkfØ;k djds rkfRod xksYM rFkk ,d vkSj ladqy [B] cukrk gSA [A] rFkk [B] Øe”k% gSa %

(1) [Au(CN)
4
]– rFkk [Zn(CN)

2
(OH)

2
]2– (2) [Au(CN)

2
]– rFkk [Zn(OH)

2
]2–

(3) [Au(CN)
2
]– rFkk [Zn(CN)

4
]2– (4) [Au(CN)

4
]2– rFkk [Zn(CN)

3
]4–

Ans. Official Answer NTA (3)

Question ID:101434

Sol. 4Au(s) + 8CN— (aq) + 2H
2
O(aq) + O

2
(g)  4[Au(CN)

2
]—(aq) + 4OH—(aq)

2[Au(CN)
2
]—(aq) + Zn(s)  [Zn(CN)

4
]2– (aq) + 2 Au(s)

5. Number of electron deficient molecules among the following

PH
3
, B

2
H

6
, CCl

4
, NH

3
, LiH and BCl

3
 is

fuEufyf[kr esa ls PH
3
, B

2
H

6
, CCl

4
, NH

3
, LiH rFkk BCl

3
 bysDVªkWu U;wu v.kqvksa dh la[;k gS %

(1) 0 (2) 1 (3) 2 (4) 3

Ans. Official Answer NTA (3)

Question ID:101435

Sol. Electron deficient species have less than 8 electrons (or two electrons for H) in their valence (incomplete octet)

B
2
H

6
, BCl

3
 have incomplete octet.
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6. Which one of the following alkaline earth metal ions has the highest ionic mobility in its aqueous solution ?

fuEufyf[kr {kkjh; e`nk /kkrq vk;uksa esa ls fdl ,d dh mlds tyh; foy;u esa lokZf/kd vk;fud xfr”khyrk gS \

(1) Be2+ (2) Mg2+ (3) Ca2+ (4) Sr2+

Ans. Official Answer NTA (4)

Question ID:101436

Sol. Highest ionic mobility corresponds to lowest extent of hydration and highest size of gaseous ion.

Hence Sr2+ has the highest ionic mobility in its aqueous solution.

7. White precipitate of AgCl dissolves in aqueous ammonia solution due to formation of :

AgCl dk lQsn vo{ksi tyh; veksfu;k foy;u esa ftlds cuus ls ?kqyrk gS] og gS %

(1) [Ag(NH
3
)

4
]Cl

2
(2) [Ag(Cl)

2
(NH

3
)

2
] (3) [Ag(NH

3
)

2
]Cl (4) [Ag(NH

3
)Cl]Cl

2

Ans. Official Answer NTA (3)

Question ID:101437

Sol. AgCl + 2NH
4
OH  [Ag(NH

3
)

2
]Cl + 2H

2
O

8. Cerium (IV) has a noble gas configuration. Which of the following is correct statement about it ?

(1) It will not prefer to undergo redox reactions.

(2) It will prefer to gain electron and act as an oxidizing agent

(3) It will prefer to give away an electron and behave as reducing agent

(4) It acts as both, oxidizing and reducing agent.

lhfj;e (IV) dk bysDVªkWfud foU;kl mR—’V xSl tSLkk gSA fuEufyf[kr esa ls dkSu&lk ,d dFku blds fy, lR; gS\

(1) vip;ksip; vfHkfØ;k;sa djuk ilan ugha djsxkA

(2) bysDVªkWu yfC/k ilan dj vkWDlhdj.k deZd dk dk;Z djsxkA

(3) ,d bysDVªkWu nsuk ilan dj ;g vipk;d deZd tSlk O;ogkj djsxkA

(4) ;g vkWDlhdkjd rFkk vipk;d deZd nksuksa :iksa esa dk;Z djrk gSA

Ans. Official Answer NTA (2)

Question ID:101438

Sol. Cerium exists in two different oxidation state +3, +4.

Ce+4 + e—  Ce3+ E° = +1.61 V

Ce+3 + 3e—  Ce E° = –2.336 V

It shows Ce+4 acts as a strong oxidising agent & accepts electron.
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9. Among the following, which is the strongest oxidizing agent ?

fuEufyf[kr esa ls dkSu lk izcyre vkWDlhdj.k deZd gS \

(1) Mn3+ (2) Fe3+ (3) Ti3+ (4) Cr3+

Ans. Official Answer NTA (1)

Question ID:101439

Sol. E°
 Fe3+ |Fe2+ = +0.77 V E°

 Ti3+ | Ti2+ = –0.37 V

E°
 Mn+3 | Mn2+ = +1.57 V E°

 Cr3+ | Cr2+ = –0.41 V

Mn+3 is the best oxidising agent among the given series.

10. The eutrophication of water body results in :

(1) loss of Biodiversity. (2) breakdown of organic matter.

(3) increase in biodiversity. (4) decrease in BOD.

ty fudk;ksa ds ;wVªksfQds”ku dk ifj.kke gS %

(1) tSofofo/krk dh {kfr (2) dkcZfud inkFkksZa dk Hkatu gksuk

(3) tSofofo/krk esa c<+ksÙkjh (4) BOD dk ?kVuk

Ans. Official Answer NTA (1)

Question ID:101440

Sol. The process in which nutrient enriched water bodies support a dense plant population, which kills animal life by

depriving it of oxygen and results in subsequent loss of biodiversity is known as Eutrophication.

11. Phenol on reaction with dilute nitric acid, gives two products. Which method will be most efficient for large

scale separation ?

(1) Chromatographic separation (2) Fractional Crystallisation

(3) Steam distillation (4) Sublimation

fQukWy ds ruq ukbfVªd vEy ls vfHkfØ;k ls nks mRikn curs gSaA cM+s iSekus ij mudks i`Fkd djus ds fy, loksZPp l{ke

fof/k gS %

(1) o.kZys[kh i`FkDdj.k (2) izHkkth fØLVyu (3) ok’i vklou (4) m/oZikru

Ans. Official Answer NTA (3)

Question ID:101441
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Sol.

OH NO2

+

NO2

OH OH

(ortho) (para)

dil
HNO3

Para product has higher boiling point than ortho as intermolecular H-bond is possible in former, where

as intramolecular H-bond is possible in ortho product.

Steam distillation can separate them as ortho product is steam volatile.

12. In the following structures, which one is having staggered conformation with maximum dihedral angle?

fuEufyf[kr lajpukvksa esa ls fdl ,d dk mPpre f}ry dks.k ds lkFk lkarfjr la:i.k gS %

(1) 

CH3

CH3

H

H

H H
(2) 

CH3

CH3

H
H

H

H

(3) 

CH3

CH3

H

H

H

H
(4) 

H
H

H

H

CH3

Ans. Official Answer NTA (3)

Question ID:101442

Sol.

CH3

CH3

H

H

H

H

It is the staggered conformation with maximum dihedral angle.

13. The product formed in the following reaction.
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CH3

CH3

H ?

CH3

C = CH  + H – C – CH2 3
CH3


 is :

fuEufyf[kr vfHkfØ;k esa fojfpr mRikn gS %

CH3

CH3

H ?

CH3

C = CH  + H – C – CH2 3
CH3



(1) 
CH3 CH3

CH3 CH3

CH – CH  – CH – CH2 2 (2) 
CH3

CH3

CH3

C – CH  – C – CH2 3CH3

H

(3) CH3 – CH – CH – CH

CH3 CH3

CH3

CH3

(4) 

CH3

CH3

CH3

CH3

CH – C – C – CH3 3

Ans. Official Answer NTA (2)

Question ID:101443

Sol.

H
+

H

+

+

+ +

+ +

++

+

14. The IUPAC name of ethylidene chloride is :

(1) 1-Chloroethene (2) 1-Chloroethyne (3) 1, 2-Dichloroethane(4) 1, 1-Dichloroethane

,fFkfyMhu DyksjkbM dk IUPAC uke gS %

(1) 1-Dyksjks,Fkhu (2) 1-Dyksjks,Fkkbu (3) 1, 2-MkbDyksjks,Fksu (4) 1, 1-MkbDyksjks,Fksu

Ans. Official Answer NTA (4)

Question ID:101444

Sol. CH
3 
– CH – Cl

2
 (1,1-Dichloroethane)
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15. The major product in the reaction

CH  – C – Cl + KO  – C – CH3 3

CH3 CH3

?

CH3 CH3

 is

(1) t-Butyl ethyl ether (2) 2, 2-Dimethyl butane

(3) 2-Methyl pent-1-ene (4) 2-Methyl prop-1-ene

vfHkfØ;k esa eq[; mRikn gS %

CH  – C – Cl + KO  – C – CH3 3

CH3 CH3

?

CH3 CH3

(1) t-C;wfVy ,fFky bZFkj (2) 2, 2-MkbesfFky C;wVsu

(3) 2-esfFky isUV-1-bZu (4) 2-esfFky izksi-1-bZu

Ans. Official Answer NTA (4)

Question ID:101445

Sol. CH –C–O3 CH –C–Cl2 CH –C    + t – BuOH3+

CH3 CH3 CH3
H

CH3 CH3 CH2

E2

t-butoxide ion carryout Elimination reaction at 3º alkyl halide

16. The intermediate X, in the reaction :

vfHkfØ;k esa e/;orhZ X gS %

CHCl  + Aq.NaOH +3

OH

OH

(1) NaOH
(2) H

+

is:
CHO

[X]
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(1) 

OH

CCl3

(2) 

OH

CHCl2

(3) 

O  Na

CHCl2



(4) 

O  Na

CCl3



Ans. Official Answer NTA (3)

Question ID:101446

Sol.

OH

CHCl  – NaOH3 CCl2

(dichloro carbene)

ONa ONa

OH

CHCl2

(i) NaOH

(ii) H+

CHO

+  NaOH
CCl2

 

17. In the following reaction :

fuEufyf[kr vfHkfØ;k esa ;kSfxd A rFkk B Øe”k% gSa %

CH

+ O2
H O2

A and B
H+

C – O – O – H

CH3 CH3H C3 H C3

The compounds A and B respectively are :
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fuEufyf[kr vfHkfØ;k esa ;kSfxd A rFkk B Øe”k% gSa %

CH

+ O2
H O2

A and B
H+

C – O – O – H

CH3 CH3H C3 H C3

(1) 

CH3

 , CH
3
COOH (2) 

OH

OH

 , CH
3
COCH

3

(3) 

OH

 , CH
3
COCH

3
(4) 

OH

OH

 , CH
3
COCH

3

Ans. Official Answer NTA (3)

Question ID:101447

Sol.

CH  – CH – CH3 3 H C – C – CH3 3 OH

CH  – C3

O

CH3

+

O – O – H

O2 H+

H2O

18. The reaction of R – C – NH2

O

 with bromine and KOH gives RNH
2
 as the end product. Which one of the

following is the intermediate product formed in this reaction ?

R – C – NH2

O

 dh czksehu rFkk KOH ls vfHkfØ;k vaR; mRikn RNH
2
 nsrh gSA fojfpr e/;orhZ fuEufyf[kr esa ls dkSu

lk ,d gS %

(1) R – C – NH – Br

O

(2) R – NH – Br (3) R – N = C = O (4) R – C – NBr2

O

Ans. Official Answer NTA (3)

Question ID:101448
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Sol.

R–C–NH2 R–C–NH
Br–Br

KOH

R–C–NH–Br

R–C=NH

O O

O

O

R–N=C=O

intermediate

Migration

of R

19. Using very little soap while washing clothes, does not serve the purpose of cleaning of clothes, because:

(1) Soap particles remain floating in water as ions.

(2) The hydrophobic part of soap is not able to take away grease.

(3) The micelles are not formed due to concentration of soap, below its CMC value.

(4) Colloidal structure of soap in water is completely disturbed.

diM+s /kksrs le; cgqr FkksM+s ls lkcqu dk iz;ksx djuk diM+ksa dks lkQ djus dk mÌs”; iwjk ugha djrk gS D;ksafd %

(1) lkcqu ds d.k vk;u ds :i esa ikuh ij rSjrs jgrs gSaA

(2) lkcqu dk tyfojkxh Hkkx xzht dks vyx djus esa vleFkZ gksrk gSA

(3) lkcqu dh lkUnzrk CMC eku ls uhps gksus ds dkj.k felsYl ugha curs gSaA

(4) lkcqu dh ty esa dksykbMh lajpuk esa O;o/kku vk tkrk gSA

Ans. Official Answer NTA (3)

Question ID:101449

Sol. Micelle or associate colloid formation occurs above a certain conc. known as CMC.

20. Which one of the following is an example of artificial sweetner ?

(1) Bithional (2) Alitame (3) Salvarsan (4) Lactose

fuEufyf[kr esa ls dkSu&lk ,d —f=e e/kqjd dk mnkgj.k gS \

(1) ckbFkk;ksukWy (2) ,sfyVe (3) lSYojlSu (4) ySDVksl

Question ID:101450

Ans. Official Answer NTA (2)

Sol. Alitame is an aspartic acid containing dipeptide artificial sweetner.

21. The number of N atoms in 681 g of C
7
H

5
N

3
O

6
 is x × 1021. The value of x is _________.

(N
A
 = 6.02 × 1023 mol–1) (Nearest Integer)

681 g of C
7
H

5
N

3
O

6
 esa N ijek.kqvksa dh la[;k gS x × 1021 x dk eku gS _________A

(N
A
 = 6.02 × 1023 mol–1) (fudVre iw.kkZad esa)

Ans. Official Answer NTA (5418)
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Question ID:101451

Sol. Moles of compound (C
6
H

5
N

3
O

6
) = 

645

215
 = 3 mol

moles of Nitrogen = 9 mole

No. of atoms of Nitrogen = 9 × 6.02 × 1023

    = 54.18 × 1023

    = 5418 × 1021

22. The distance between Na+ and Cl– ions in solid NaCl of density 43.1 g cm–3 is _______ × 10–10 m.

(Nearest Integer)

(Given : N
A
 = 6.02 × 1023 mol–1)

43.1 g cm–3 ?kuRo ds Bksl NaCl esa Na+ rFkk Cl– vk;uksa ds e/; nwjh gS _______ × 10–10 m. (fudVre iw.kkZad esa)

(fn;k gS % N
A
 = 6.02 × 1023 mol–1)

Ans. Official Answer NTA (1)

Question ID:101452

Sol. 3
A

Z M

a N


 



3 23

4 58.5
43.1

a 6.02 10




 

a3 = 0.9 × 10–23

= 9 × 10–24

a = 2.08 × 10–8 cm

= 2.08 × 10–10 m

for NaCl, distance between Na+ and Cl– = 
a

2
 = 1.04 × 10–10 m

23. The longest wavelength of light that can be used for the ionisation of lithium atom (Li) in its ground state is x ×

10–8 m.  The value of x is ______. (Nearest Integer)

(Given : Energy of the electron in the first shell of the hydrogen atom is –

2.2 × 10–18 J ; h = 6.63 × 10–34 Js and c = 3 × 108 ms–1)

yhfFk;e ijek.kq (Li) dk fuEure voLFkk esa vk;uu dj ldus okys izdk”k dh lokZf/kd nh?kZ rjaxnS/;Z x × 10–8 m gSA

x dk eku gS ______A (fudVre iw.kkZad esa)

(fn;k gS % gkbMªkstu ijek.kq ds izFke dks”k esa bysDVªkWu dh ÅtkZ gS –
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2.2 × 10–18 J ; h = 6.63 × 10–34 Js rFkk c = 3 × 108 ms–1)

Ans. Official Answer NTA (4)

Answer by Matrix is (Bonus)

Question ID:101453

Sol. We can not calculate I.E. of lithium atom.

24. The standard entropy change for the reaction

4Fe(s) +3O
2
(g)  2Fe

2
O

3
(s) is –550 J K–1 at 298 K.

[Given : The standard enthalpy change for the reaction is – 165 kJ mol–1]. The temperature in K at

which the reaction attains equilibrium is _______.   (Nearest Integer)

uhps nh x;h vfHkfØ;k

4Fe(s) +3O
2
(g)  2Fe

2
O

3
(s) ds fy, 298 K ij ekud ,UVªkih ifjorZu –550 J K–1 gS mlh vfHkfØ;k ds fy,

ekud ,UFkSYih ifjorZu– 165 kJ mol–1 fn;k gS rki K esa ftl ij vfHkfØ;k lkE;voLFkk dks izkIr dj ysrh gS og

gS _______A   (fudVre iw.kkZad esa)

Ans. Official Answer NTA (300)

Question ID:101454

Sol. 4Fe(s) + 3O
2
(g)  3Fe

2
O

3
(s) S

r
 = – 550 J/K

H
r
 = – 165 kJ/mole

At equilibrium G = 0

H
T

S

 
  

 
at equilibrium

= 
3165 10

550

 


 = 300 K

25. 1 L aqueous solution of H
2
SO

4
 contains 0.02 m mol H

2
SO

4
. 50% of this solution is diluted with deionized

water to give 1 L solution (A). In solution (A), 0.01 m mol of H
2
SO

4
 are added. Total m mols of H

2
SO

4

in the final solution is _______ × 103 m mols.

H
2
SO

4
 ds 1L tyh; foy;u esa 0.02 m mol H

2
SO

4
 gSA bl foy;u ds 50% dks fovk;fur ty ls ruq dj 1L foy;u

(A) cuk;k x;k gSA bl foy;u A esa H
2
SO

4
 ds 0.01m mol ladfyr dj fn, x;s gSaA vfUre foy;u esa H

2
SO

4
 ds dqy

m mols gSa _______ × 103 m mols. (fudVre iw.kkZad esa)
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Ans. Official Answer NTA (0)

Question ID:101455

Sol. n
H

2
SO

2
 in Soln A  = 50% of original solution = 0.01 m mol.

n
H

2
SO

2
 in Final solution = 0.01 + 0.01 = 0.02 mmol

= 0.00002 × 103 mmol

26. The standard free energy change (G°) for 50% dissociation of N
2
O

4
 into NO

2
 at 27°C and 1 atm pressure is

– x J mol–1. The value of x is __________. (Nearest integer)

[Given : R = 8.31 J K–1 mol–1, log 1.33 = 0.1239 ln 10 = 2.3]

N
2
O

4
 ds NO

2 
esa 50% fo?kVu ds fy, ekud eqDr ÅtkZ ifjorZu (G°) 27°C rFkk 1 atm ij – x J mol–1 gSA x dk

eku gS __________A (fudVre iw.kkZad esa)

[fn;k gS % R = 8.31 J K–1 mol–1, log 1.33 = 0.1239 ln 10 = 2.3]

Ans. Official Answer NTA (710)

Question ID:101456

Sol. N
2
O

4
 2NO

2

t = 0 1 mol

t = t (1 – 0.5) mol 0.5 × 2 mol

= 0.5 mol 1 mol

2

P

1
1

1 1001.5
k 1.33

0.5 0.75 75
1

1.5

 
 

    
 

 
 

0
PG RT n k   

 8.31 300 n 1.33 710.45J / mol 710J / mol       

27. In a cell, the following reactions take place

Fe2+  Fe3+ + e–
3 2Fe /Fe

E 0.77V 

 

2I–  I
2
 + 2e–

2I / I
E 0.54V

 

The standard electrode potential for the spontaneous reaction in the cell is x × 10–2 V 298 K. The value of x is

_______. (Nearest Integer)

,d lsy esa fuEufyf[kr vfHkfØ;k;sa gksrh gSa %
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Fe2+  Fe3+ + e–
3 2Fe /Fe

E 0.77V 

 

2I–  I
2
 + 2e–

2I / I
E 0.54V

 

lsy esa Lor% vfHkfØ;k ds fy, ekud bysDVªkWu foHko 298 K ij gS x × 10–2 V. x dk eku gS _______A

(fudVre iw.kkZad esa)

Ans. Official Answer NTA (23)

Question ID:101457

Sol.
3 2

2
anodoeCathode

Fe I I Fe    

0 0 0
cell cathode anodeE E E 

= 0.77 – 0.54

= 0.23

= 23 × 10–2 V

28. For a given chemical reaction

1 2 3 4A B C D      

Concentration of C changes from 10 mmol dm–3 to 20 mmol dm–3 in 10 seconds. Rate of appearance of

D is 1.5 times the rate of disappearance of B which is twice the rate of disappearance A. The rate of

appearance of D has been experimentally determined to be 9 mmol dm–3 s–1. Therefore the rate of

reaction is _______ mmol dm–3 s–1. (Nearest Integer)

,d nh x;h jklk;fud vfHkfØ;k] 1 2 3 4A B C D       , esa C dh lkUnzrk 10 lsd.M esa 10 mmol dm–3 ls ifjofrZr

gksdj 20 mmol dm–3 gks tkrh gSA D ds izdV gksus dh nj] B ds yqIr gksus dh nj ls 1.5 xquh gS] tks fd A ds yqIr gksus

dh nj dh nks xquh gSA D ds izdV gksus dh nj dks izk;ksfxd :i ls 9 mmol dm–3 s–1 ekik x;k gSA vr% vfHkfØ;k dh

nj gS _______ mmol dm–3 s–1A (fudVre iw.kkZad esa)

Ans. Official Answer NTA (1)

Question ID:101458

Sol.

1 2 3 4A B C D      

Given : 
   d D d B3

dt 2 dt


 

   d B d D1 1

2 dt 3 dt

 
 
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       d B d A d B d A1
2

dt dt 2 dt dt


     

  3 1d B
9mmoldm s

dt
  

  3 1d C 20 10
1mmoldm s

dt 10
  

 

   d C d D1

dt 9 dt

 
 

1
1A 2B C 3D

3
  

 3A + 6B  C + 9D

Rate of reaction = 
  3 1d C

1mmoldm s
dt

 


29. If [Cu(H
2
O)

4
]2+ absorbs a light of wavelength 600 nm for d-d transition, then the value of octahedral crystal

field splitting energy for [Cu(H
2
O)

6
]2+ will be _______× 10–21 J. [Nearest integer]

(Given: h = 6.63 × 10–34 Js and c = 3.08 × 108 ms–1)

600nm rjaxnS/;Z ds izdk”k dks [Cu(H
2
O)

4
]2+ d-d laØe.k ds fy, vo”kksf’kr dj ysrk gSA [Cu(H

2
O)

6
]2+ ds fy,

v’VQydh; fØLVy {ks= foikVu ÅtkZ gksxh _______× 10–21 J. [fudVre iw.kkZad esa]

(fn;k gS : h = 6.63 × 10–34 Js rFkk c = 3.08 × 108 ms–1)

Ans. Official Answer NTA (746)

Answer by Matrix is 766

Question ID:101459

Sol.
34 8

t 9

hc 6.63 10 3.08 10

600 10





  
  

 

17
176.63 3.08 10

0.034034 10
600


 

  

= 340.34 × 10–21 J

0 t

9

4
  

= 
219

340.34 10
4

 
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= 765.765 × 10–21 J

 766 × 10–21 J

30. Number of grams of bromine that will completely react with 5.0 g of pent-1-ene is _______ × 10–2 g. (Atomic

mass of Br = 80 g/mol) [Nearest integer]

czksehu ds xzkeksa dh la[;k tks 5.0 g isUV-1-bZu ls iw.kZ vfHkfØ;k djrh gS] _______ × 10–2 g gSA

(Br dh ijekf.od lagfr = 80 g/mol) [fudVre iw.kkZad esa]

Ans. Official Answer NTA (1143)

Question ID:101460

Sol.

(C H )5 10
+Br2 Br

Br

(C H )5 10Br2

moles of Br
2
 = moles of C

5
H

10

w 5

160 70
 

5 160
w g

70


 

= 11.428 g

= 1142.8 × 10–2 g  1143 × 10–2 g


